= g8 |
S S 107
510 ° Ok
107
1073 ST e (W W
5 omffé_""'""i""i"""""""
= 14F = E : H
© n © E- #¥-1H L { HHH
214 r o l'1§ | |
12f =<4l B TR e ete] s
1:—---.. I INiE 0.9 ¥ 1[F (T E b
C L L i A 0.8t " i A " i
-3 -2 -1 0 1 2 3 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_TT__mkFit-DQM_original
—e— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated{0
—— DQM_TT__mkFit-DQM_original_newwindows
~ —~ 1=
IS RS- S [S i
e c
~ [T Y >
S S
5 ]
107!
| EEFLE 102
S 10 0 A1 P
g F : : g 12f
x 1.1 1 11 1 v N
15—- - Yy - - -4 éu M-+ b q é 4+ 1._”
0937 1 0 1 2 3 83— -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o L1.1E y N
8 1osE- § '
xr E b ] N
1 ¢ 1] g ' - 1414
0.95F---1t{H]fH
0.9t A ; i v
= -2 -1 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


